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QUESTION 1

Which three statements are true about NSX Distributed Firewall? (Choose three.)

A. ft provides East-West stateful Layer 2 - Layer 4 firewall

B. it allows you to create access control policies based on VMware vCenter Server objects
C. such as data centers and clustersDC ft works as perimeter security firewall.

D. It provides North-South stateful Layer 3 - Layer 4 firewall.

E. It is virtualization-aware firewall.

Correct Answer: ABE

QUESTION 2

Which technique best explains the use of the grained policies and network to enable security inside the data center?
A. Micro-division

B. Bifurcation

C. Dissection

D. Micro-segmentation

Correct Answer: D

QUESTION 3

What is the default TCP port through which the Layer 2 VPN client makes an outgoing connection request in the Layer 2
VPN tunnel architecture?

A. 443
B. 843
C. 440
D. 401

Correct Answer: A

QUESTION 4

What is the default virtual standard switch that is created when ESXi is installed on a hypervisor?
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A. vSwitch 1
B. vSwitch
C. vSwitch0
D. vSwitcj2

Correct Answer: C

QUESTION 5
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Which is NOT a benefit of virtualized compute over traditional physical hardware for server deployments?

A. Cost

B. Deployment time
C. Security

D. Flexibility

Correct Answer: C

Latest 1V0-642 Dumps

1V0-642 Practice Test

Latest 1V0-642 Dumps | 1V0-642 Practice Test | 1V0-642 Study Guide

1V0-642 Study Guide

3/3


https://www.passapply.com/1v0-642.html
https://www.passapply.com/1v0-642.html
https://www.passapply.com/1v0-642.html
http://www.tcpdf.org
https://www.passapply.com/1v0-642.html
https://www.passapply.com/1v0-642.html
https://www.passapply.com/1v0-642.html

